_~
~

mmm
aeaa it | = |m:|:|:umu_l|.uu.u
= 5 FEMRORET .

; &
e LT aTN sl M ] T

5 78 ﬁ'tE 0)’@.:1

#P i3 44 fE 5% 5 [X 15 5 D #B v #% BE HiE 5% D 3T AR R
% 8 i O RS 3@7‘: . ié’“*ﬂrﬁ’ﬁ TOHLAYE ] O T2 # K AE it 5 D 32 Hk
Bl CHEH U 72 # i b R ZOWT, # T RE % 5 X e K OVBRF B8 (2 s 1) % S
i&ﬂwﬂ%ﬁﬁbiﬁ“ ZOTFT—=Z %&b &I, AL - B A OALE S O BMRER &

DEFEZIE 2, FEMXEZHELET,

5-1



5 BEMERORE
m &P B BB HE 5% 0D 32 IR IR
PR SAERHR =tk SAKER | 5 | @
i
B # £ B # B # |
R OR LR TR R n | R G| RIR| G| KR TR R g |
i o | mo | mo o fE31 me | L
i 1 8| # | 8| 8| # L8| 8| # |8 8|# | 8llel 8| # (8| 8] e | &
1 & fl: ol & (I 1t ol & i 0 jl: ol # i 0 fl: ol # i 0 1t ol & 1I: ol & i 0 fl: - i
# Bola LoBola LoPolm “oBolm |Lo|Bo|m Bolaw |Lo|dy E
: 2| ¥R e B2 |2 g |2 |¥ g a2 o - I
Plarmer 2 gren B gn e B gmEn B gnn B igm el B g nm & |
X BB |TE B K TE 8 K TE 8K CE 8 K B B VB L8 o | g
b} o o) b} o o) b} < | s
REERLI— 1
E e 1 3| 33%
® LB 2 4 1 16 1 45 76%
REIER 2 3 2 15 1 50 72%
EENEA— 1 1] 100%
5| hEaERErs— 1 4 25%
& =
=i
2l mesmm ‘ J| &
BT SRR
it EE%_%‘ﬂéﬁ'ﬁ'& 5 1 1 9 1 49| 47%
E’i” ﬁg y “_ﬁiﬁgg 2 1 5 2| 17| 3
FETXEEVS— 1 1 4 50%
REERE 1 1 3 1| 17| 53%
YiE 1 1 3| 33%
F BECELE 1 1] 100%
B
T RAMRE M 1 3| 33%
3
& RELE 1 1 1 7| 71%
A R—EEENY IR - -
FeLBEMEA— - -
BT SR
% R g5 ’ 8| o
% INERR 1 1 5 1 13| 62%
a LT 1| 1 7| 4
RELE 1 1] 100%
MRt 5— 1
i% RS 1 1| 100%
=]
Sl smian : 1| 1008
N 1 1 2 1 1| 55%
HEFEmS (B0 1 1] 100%
KIFENFIESR "
(ESEH1.000m L) 2 2 7 17)  94%
z R399 A7 2 1 3 14 71%
avE= 2 1 1 9 1 32| 66%
®17. BERE 2 3 15 3 40| 90%
B 1 1] 100%

[ |esmassmnmmissins

5-2

[ | smmagesLaamisins




